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‘COMMERCE
(Honours Core/Regular)
Paper : COM-HC-4016/COM-RC-4026
( Cost Accounting)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the followmg as directed :
1x10=10

ﬁtﬁ@aﬁﬁwﬁm@m@@ﬁmg

(a) Cost accdunting is a method of
cost.
(Fill in the blank with approprzate word)
CeAMY GH fZp1od (S SIS
af;r ARG (Coge T el 2 %79 7))
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(b)

(c)

" (d)

A : cost is an irrecoverable cost.
(Fill in the blank with appropriate word)
T 508 7R OFR FRE @RI A
. (BT ¥ AT A2 939 T70)

Indirect labour is treated as part of

ACATF A - ol S5t |

(). finished goods
AFS udj

' .(ii) work-in-progress

% TS WGgS #ief

(i) factory overhead
IR Toifze

(iv) product
aqj _
' (Select the correct answer)

(33F CaICh Iz Clred)

Material is the first element of cost.
(State whether the statement i1s true or
false)

o] B (AR BLAMAR AN T |
|  (OfFE Yy @ ST fER)
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“(e) method of valuing material
issues is suitable in the times of falling

price.

(Fill in the blank with appropriate word)
Io7 ZPR TS Jmfe FNA oo
fafem S wwm)

(@Wwﬁﬁmwr)

(f) ' Bin card is a part of accounting record.
(State whether the statement is true or
false)

Bin card (2% Zoi#@ad SfSceq nﬂf:‘t ©io |
(Gf&EChr 7797 (A 7<) <)

(g) Which of the following is not a part of
time-keeping ?

weTs Al (D! I IHR m oo IR ?
(i) Punch card
R T4l 214
(ii) Job card
o ofa
(iii) Attendance register
et 72
(iv) None of the above

CARNE 618 W
(Select the correct answer)

(FF CGIo! MR Clsdr)

4 (Sem~4/CBCS) HC 1/RC (CAC)/G 3 _ Contd.



"(h) Depreciation is a semi-variable

| ‘expense. |
(State whether the statement is true or
false) o

R B TR Ericat S R o
(@W o] (7 STy [F3)
(i) What is process 'costing?
2fZFa B 7a Bplered WE /2

() Write the meanirig of ‘relevant cost’ in
- cost accounting. . '

T T RpIeieaere ‘erifE ?_lm’a.waf fora

2. Answer the following questions : . 2x5=10
woTe RIAR] Beq Bl ¢
(a) What is the concept of cost.?

s IR 9ol I S gme

(b) State the meaning of motion study .in
labour costing.

5 Y ZpioieRere aife S s SrEe =1
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(c) State two important features of process

- costing.

=iferal S U oI 707 ‘@ﬁ@ﬁcm
=9 |

(d) . What is operating costing?
. Biet 5 fZpieiRe et & gmme

() Name from the following the method of

‘costing and cost unit for :

were fr Soiel 1oIR [ fRpIeRd oiats o
offS olG YA TEA /A

(i) Aircraft (&%)
(i) Transport (ISTO)

3. Answer any four of the followmg questions :
S5x4=20

WWWWW o

(a) Mention five objectives of cost

accounting.

Beoa I Boioead siafod oiphr Srnel B
sl
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(b) A consignment of sugar was received
by Murli Brothers. The invoice reveals
the following data :

& aMite 6fRR CAISIA IRS 9 BT A |
BRI TR fRETIIE SoT1 ST 4 (S 8

Quantity (sifRsie) ~ 600kg .
. Rate per kg (aifs Rtenate 39) 225 |
GST (5F Si% Tl 2R) @ 12%
Freight (Ifoi¥S AB) : ¥2,130

‘After receiving the consignment, it was
noticed that there is a shortage of
'300kgs. What stock rate would you
adopt for the product assuming a

- provision of 5% towards further
deterioration ?

vl i =" PIEs 300 kg IR Ao @l
T’5 | 5% WfolRe skafe @Rl 3F «fta &
IS TGS AR w1 Hawid e o e

. (¢) What is ‘payment-by result’ method of
labour remuneration ? Mention two

advantages and two disadvantages of
"this system. - 1+(2+2)=5

X% YR Ao FTEA @ FifReae” W 7

IE? @3 AW 7O RY A qhr SERd
'.@'leaﬂn | '
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(d) The following data pertain to a material

(J’ :
oS WAl SR ANTEI U’ I TN T ¢
Supply period : 4 to 8 months
(R 3 1 4998 T2
Consumption Rate '
(el T
Maximum : 1200 units per month
- Ao ;1200 (M & WS
Minimum : 600 units per month
BRI : 600 (o6 &ie qZS
Normal : 900 units per month
o ;900 (5% S TS
Yearly : 10800 units
4 : 10800 (4%

Storage costs are S5S0% of stock value
QA ©IG! IHB TGS A 0 S0%

Ordering costs are ¥ 400 pér order
T4 I &S WS 400 B

Price per unit of material 100
i) ¥ w1 ARG (SITT 100 T

.Compute the minimum stock level.

TUEH TGO 2R T Fai 4|
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(e) Explain the five reasons of abnormal
idle time of labour cost.

WWWWW 250! FRY AN
40|

(f) ‘How is abnormal gain calculated and
treated in process costing ?
2+3=5,

ﬁﬁmmfiqu—mmﬁasm— (FECD
SRl I 3A19 R51el e o9 zj 2

- 4. Answer any four of the following questions :
10x4=40

m—ﬁmmﬁmwﬁm Teg o7 ¢

(a) What are the various costs classified
under functional classification’? Give
a brief description of each of these
- costs.

‘At cac?rﬁﬁwaaﬁﬁ—wﬁr—ﬂ@aw

IR (TRerErE & & 2 33 Aot Seomm
A B ¢ o

(b) Assam Manufacturing Company uses
copper wire which is ‘purchased
from the market as and when
necessary. Following purchases and
issues were made during the month of
January, 2023:
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ﬁﬁ%|mﬁmmmﬁ%202&m.

RS :
January 1 : Opening balance 300kgs at
| 250/ kg '
wi=3fd 32 300kg &fS (FE® 50 T
“January 3 : Purchased 500kgs at 2 52/kg
& 500 kg, &S &Flere 52 53
January 7 : Issued 220kgs
- ffe 220 e
January 11 : Issued 440kgs
& 440 fer

January 18 : Purchased 490kgs at 246/kg
T 490 (T, &fS e 46 T

January 24 : Issued 300kgs
ffe 300 e

January 28 : Surplus 20kgs returned to store
out of quantity issued on 7th
January | .
TR 7 et &fE v afz @
20 (e S [P
Prepare Stores Ledger Account for the
above transaction according to FIFO
method of pricing issue of materials. .
GHEIG (FFMACERA 731 FIFO Ao 2T

Rrerd vl enre TR 2517 2SI
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(c) - During the first week of January 2023,

the workman Mr. Santosh produces
150 articles. He received wages
for a guaranteed 48 hours a week
@ ¥ 50 per hour. The estimated time. to
produce one article is 20 minutes and
under incentive scheme the allowed is
increésed by 20%. Calculate his éross

wages according to—

(i) Piece works with guaranteed

weekly wages ;

(1) Rowan premium bonus plan ;

~

(i) Halsey premium bonus plan.

2023 571 TSI W AT ALS fil. F_reE
AR FHIRIGE 1500 1) Seoima Akes a5 |
(98 bl FYTK 48 TS S TBw 50 GHitE

“
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TGR S| GOl T TeAmA FRAE SHIAE
g 20 G ois SvsfeE Sinlee 20%
ﬁﬁﬁ@iﬂﬁo‘ﬁmiﬁlaﬁ@aqbaﬂqﬁw
fra SipR SEEEl slael T—

() SfSies Tk amits Rve e TgR
(i) VW 8s[f® I SHH (Rowan
Premium Bonus Plan)

(iii) T SoiEfR ARG B (Halsey

- Premmum Bonus Plan)

(d) Explain ‘under-absorption’ and ‘over-
absorption’ of overheads. What are the
causes for under and over-absorption

of overheads ? (2+2)+6=10

T IR T T TS SeRE i’
S I 9 BT ER T IR S
@%ﬁ@@ﬂ@awﬂﬁsﬁs?
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(e) A firm of building contractors began to
trade on 1st April, 2022. Following was
the expenditure on a contract for
Z9,00,000 :

1st @fga, 2022 © 9z Ffidw Bame 2foom
QT AR SRS S | ©eTe AL 9,00,000

Ol 1351 QB 46T By 9 =4 ¢
. o (2) 5t
Material issued (= =y fafer) - - 1,44,000
Plant issued (3@ /) 30,000
Wages incurred (SgfR) 1,48,000

Other .expenses incurred (SJISy 'Qﬁb“) 30,000

Cash received on account of 31st

" March, 2023 amounted to ={4,00,000;
being 80% of the work certified. Of the
Plant and Materials charged to contract,
Plant which cost 2 6,000 and Materials
which cost ¥ 5,000 were lost. On 31st
March, 2023 Plant cost 4,000 was
returned to stores, the cost of work
done but uncertified was 20,000 and
materials costing ¥ 4,600 were in hand
on site.
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Charge 15% depreciation on plant and

prepare Contract Account.:

31 W6, 2023T 80% TN oA 2/F A
R71<Ite 4,00,000 9% T Zpiere i T3
5 fZpioe P TSI 6,000 TFR IJIS
TFAIS W 5,000 TF JIF ANG Fo 2|
31 Wb, 2023 4,000 T3 IR TFANS SwiACa
72 T =¥, 20,000 TIR Seiced o)
& 4,600 TF G ANGY IR (FIKAE
FZNe A T
TSR 8oR 15% TS = 41 IR ol
feoiel e AL
() Briefly describe the need for and
procedure for integration of Cost
Accounting and Financial Accounting.
| 5+5=10
Tesivd 57 Zpieiad o< RS f2pieiead sz
AT S I AN G 3091 31 |

(g) (i) What is allocation and

apportionment of overheads?

Toifes R 3% WS [eee i (&2

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 13 Contd.



i

(i) - A company has four departments.
The actual cost for the period are
given below. Apportion the cost to
the various departments by using

the. most equitable method—

2+8=10
B PI=AITR 511 it | Bt S ST
U4 I woTe Al T | Wi @R
s -mfs arr =Rk [ifen Rer
ere 3 ﬁ—mﬂ q—

(2) o=t

Rent (Srer) | 5,000
Depreciation (S<%3) 4,800
Supervision (RT=F) 9,000

Employer’s Liability Insurance 900
(FHRE o= AN)

Insurance (1) 3,000
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The following data are also available in
respect of four departments :

e al YRR RSIERT &9e Ties 2

Particulars A B C D

| Area (sq. feet) S0 40 30 30
Ff (39 75)
Number of Workers 24 16 12 8
FARA Y]
Value of Plant (in %) 12,000 | 9,000 | 6,000 | 3,000
TEAfes T (5
Total Wages (3) 4,000 |3,000 |2,000| 1,000
T TR )
Value of Stock (3) 15,000 {9,000 |6,000| -

T5e R T (G)

(h) A manufacturing company disclosed a
net loss of 2 2,91,000 as per their cost
accounts for the year ended on March
31st, 2023. The following information
was revealed as a result of scrutiny of
the figures of both the sets of books.
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31 W, 2023 T 61 GeAmaAFI_l TSt
2,91,000 B3R I GITH (SETERTT TeAM
A foplercs o T it IR SARN

GRS
- (2) T
Factory overhead over absorbed 8,000
FIeA ToAfze T SOkG (IR
Administrative overhead underabsorbed ' 12,000
PR TS R (T
* Depreciation charged in financial accounts . ~1,10,000
Depreciation charged in cost accounts ' 1,22,000
Tl T {214 WF P
Income tax provided : 75,000
Interest on loans fund in financial accounts 1,34,000
fek e offe 3R eoRe o -

“Interest on investments not included in cost accounts 32,000
TeArA I fRpie wafe Wl Rt eoke

Transfer fees (Credit in financial books) < 8,000
RS (T (feh 2o ()

. Stores adjustment (Credit in financial books) T 4,000
o il (6 2o (@ eD)

Prepare a Reconciliation Statement
from the above information.

SRS ARSIV #[ 9 TR TS g
<9 | 4 '
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